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(1) BEAKFERE Kh=| 2.0
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(2)7vh—RIL b
DA% N=| 4 | %
@44 X - ik =M| 10 (7
@1 RS Y QHMBTER (FFEIC& HEEE) A= 78 lm= | 78 x10° m
OWBREREEZBEDBIERY EZHIFAOT U A—RIL FOBREK Nt=| 2 ES
(BBEAELYRBRBELETORS He=| 590 = 0.590 |m
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(2) REtARERE Kv=Kh/2=| 0.5 |
(3) BEAKEHES Fh=Kh-W-9. 8=| 2058. 0 IN
(4) BERMEHBEN Fv=Kv-W-9. 8=| 1029.0 IN
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() RET 2HAM DHIARIL bR/ L=/ 724 = [0.724 |m
(5)RET DHAN SHTRIL FLH SHBELETOER Le=| 312 Imm (Le<L/2)=[0.312 |m
4. BREEE GEOMAUT2HEEORAALTHH)
(1) REHAKFRE Kh=| 1.5 |
(2) ZEABERE Kv=Kh/2=| 0.8
(3)FEAKFHES Fh=Kh-W-9. 8=| 3087.0 IN
(4)RERSMEHBES Fv=Kv-W-9. 8=| 1543.5 IN
(5)7 wh—kIL kDBIHEH %H?ijﬁmg = 1147.0 N
(6) 7 h—HKIL FOEAMH Q=Fh/N=| 771.8 IN
(T oh—RILMETBHAE
O3RN E o=Rb/A=| 14.7 |MPa< ft=176. 4MPa
@t A HE T=0/A=| 9.9 |MPa< fs=132. 3MPa
QBIREBAMERBICRTHHE fts'=1. 4ft-1.6 7| 231.1 MPa
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